ﬁ a®= J %3 a Semplificare i polinomi

Nome: Data: Punteggio: __
3(6x2 + x3) — 5 + Tx—x 4% + 2 +9x% - 3(5x3 + 5x3)
x— 4 + 3(3x+ 9x) + 2x 3x— 9x+ 7x° — 3(7x3 + 6x2)
T — T+ 6x° + 2()(2 - 5x2) 4 — 8x + 4(3x3 + 5x) + 8x
8x + 3% + 3x — 2(9x — 5x2) 30— 3x? —x% + 4x + Ox
4(9x + 6x7) + x+ 6x° — 8x 5% — 8% +2(2x + x) + 2x°
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Bl P

Semplificare i polinomi

Nome:

3(6)c2+x3)—5x3 +7x—x
—2x° + 18 + 6x

x— 4% +33x + 9x) + 2x
—4x> + 39x

2 = T + 60 + 2(x% — 5x°)
6x> — 8x7

8x+ 3x° + 3x — 2(9x — 5x2)
3+ 1007 — 7x

4(9x + 6x%) +x+ 6x° — 8
6x> + 247 + 29x

Data: Punteggio:

43 + 22 + 9x% — 3(5x° + 5x%)
—24x> + 9x?

3x— Ox + 7x° — 3(7x3 + 6x2)
—14x> — 18 — 6x

4x% — 8x + 4(3x° + 5x) + 8x
1223 + 4% + 20x

3 — 35 — % + 4x + 9x
3’ — 4 + 13x

5% — 8 +2(2x + x) + 2x°
- + 6x
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